HAFELE

www.hafele.com

HAFELE

[ ]

t 0 0O O

Q N b =
0O 0O o n

C

L

S
DL7000

HAFELE

]

t 0 0O O

Q N bh =
O 0D o n

g

(@)

\=====;=={=)
DL7100

Installation Guide

* The contents of this user manual are subject to change without prior

notice to the user in order to enhance of the products.



Contents

Product SPECIfICALION. ... 3
Prepare for INStallation............ooii i
INSTAIIATION. ...ttt e et e e a e 9

DL7000/DL7100

0 Product specifications

Front-side of exterior panel

64
7@@\ Display screen
L = 5 Touch keypad
4 5 6
- 7 8 8
~
g B < Card reader area
Exterior _handle
@
[e0)
N
Fingerprint sensor
(Only DL7100)
128
\ \
| |
48
\ Energency power port
]
26.8 @g
| )
|- -
Key cylinder

Back-side of exterior panel

Connecting
Cable

D

o

D)

=9
o

N/

119.5

68

Unit: mm




DL7000/DL7100 DL7000/DL7100

0 Product specifications 0 Product specifications

Front-side of interior panel Back-side of interior panel Small mortise lock

64 Deadbolt

Sensor latch Latch bolt

O Connecting socket
Interior plate @
~ Hole for cable of } o [
- mortise lock to

go through

o .

' Shaft socket

Interior handle

JEEEN
——

Privacy switch

283
119.5

©

PEAGY
on are

Big mortise lock

68
©

i i Deadbolt
S latch
Q ensor latcl Latch bolt

k:g\_l—_‘d
Reset button 7O @ o)

g | —
Network socket | | 15
Network socket ! ‘ of
48 )
\ Opening latch @
S
!
26.8
o ko * O
O @)

Unit: mm Shaft socket




DL7000/DL7100 DL7000/DL7100

0 Preparing for Installation Q Preparing for Installation

How to reverse internal handle

How to reverse external handle

O T 1 f

..... Reversing switch

= -t — |
(0] O // | o
—\ i o
Reversing switch ’ // \
N
'/ ’ E o
External handle External handle Internal handle 4 \ Internal handle

| v . ,
—) (G—

\ A
A "/ e D

-

~ L

Keep pushing the reversing switch outward and turn the handle 180° from downside at the
same time to finish reversing direction of the handle.

Noted: When reversing the handle from A side to B side, please push the reversing switch ] ] ) o )
on the A side outward. It is the same way for reversing the handle from B side to A side, Push the reversing switch upward and turn the handle 180° from the upside to finish reversing

which should push the reversing switch on the B side outward; otherwise it is not able to
reverse the handle direction.

direction of the handle.

Noted: It is the same way to reverse left and right direction.




DL7000/DL7100

0 Preparing for Installation

How to change the direction of latch bolt

Pop up automatically

2. Turn 180° in any direction

1. Push the reversing switch upward. After then, the latch will pop up automatically.
2. Rotate the latch bolt 180° in any direction and press it back in the mortise lock.

Reversing switch

1. Push upward

-
\

| —
H @
[Tl [ —
@
- O
]

@
@

DL7000/DL7100

0 Installation

How to install mortise lock

Cable of mortise lock

Mortise mounting screw

-

S &= D

Mortise lock

AN

1. Insert mortise lock into the bored hole on door side with the latch on the upper side.
Pull out the cable of mortise lock from the middle hole of indoor panel.
2. Fix the mortise lock by 2 mounting screws.

Noted: The mortise lock should be parallel with the hole on door. The mortise lock should not
be inclined or off-center from the door side after installation.




DL7000/DL7100 DL7000/DL7100

0 Installation Q Installation

How to install exterior panel How to install interior panel

Cable of mortise lock
M4X15 Screw and exterior panel Door

Door

Exterior panel

Interior plate

\

Exterior panel
Silicon pad

Base plate

Cable of exterior panel

N

/

COE NN
[N

=

\,\

9

Auti-cut sleeve

M5X45 Screw

Connecting screw bolt

Cable of mortise lock

M4X15 Screw

Interior panel

8X8 Spindle

Spring

e, Eﬂﬂﬂ@

«
L

8X8 Spindle

/&

Mortise lock

M5X45 Screw

1. Pull out the cable of exterior panel from the upper hole of indoor panel. Insert 8x8 spindle through
the shaft socket of mortise lock and exterior panel.
2. Fix the exterior panel with base plate by M5X45 screws provided.

1. Connect the cable of exterior panel and mortise lock to interior panel.
2. Put the spring inside the hole of interior handle and put the handle over the spindle.
Fix the interior panel with the base plate by M4x15 screws provide.

3. Install 4 pieces of AA battery correctly and operate the lock system to lock and unlock to test.
Noted: Please make sure the exterior panel, shaft socket of the mortise lock and mounting plate is on After making sure the lock operates smoothly. Cover the interior plate onto the interior panel.

the same vertical center to make sure the spindle operates smoothly




HAFELE

www.hafele.com

HAFELE

]

i 2 3
4 5 B8
7 8 8
c 0 =

HAFELE

]

Q N A
0O 0 o n
0O 0 O

t

g

~
L
0

N—— ——

DL7000 DL7100

Hudng dan lap dat

* Noi dung cta hudng dan st dung nay co thé thay déi ma khong can thong bao

truéc cho ngudi dung dé nang cao hiéu nang clia séan pham.

Néi dung

Thong s6 ky thuat..
Chuén bi lap dat...

Huong dan lap dat



DL7000/DL7100

0 Thoéng s6 ky thuat

Mat truéc cla

mat ngoai khoa

171

=

QO N b
0O O o wp

Man hinh hién thi

Ban phim cam ting

Vung doc thé tu

Tay nam ngoai

Cap két néi

N

‘

Mat sau cla

mat ngoai khoa

D)

119.5

(9]
&
@ )
=
Cam bién van tay
chi co trén DL7100
o
128
[ \ |
[
\ Cdng cép ngudn khan cép
!
x ——r ]
Ruét
khoa co
Bon vi: mm
14

DL7000/DL7100

0 Thoéng s6 ky thuat

Ta&m che mat trong

Tay nam trong

Mat truéc cla
mat trong khoa

64

)

C

171

283

Nut chuyén
ché do riéng tu

Nt thiét 1ap lai

Cdéng két néi hé théng

o

D)

DomvACY
" orFF

\E\_ﬁ——d
o [ 0)

™~
®
0 o
@]

Mat sau cla

mat trong khoa

)

m
0y

L6 cho day cap
than khoa

Q@D @
@ ©
-/
128
|
| | s
x
T Chét mo
‘ |
26.8
|
Pon vi: mm

15



DL7000/DL7100

DL7000/DL7100

Q Théng s6 ky thuat

Than khoa nhd

Chét c6 dinh

Chét cam bién

Chét ctia

L6 truc

Than khoa Ién

Chét c6 dinh

Chét cam bién Chét clia

@ Chuin bi 1ap dat

Hudng dan dao chiéu tay nam ngoai

o 0]
BN
o o)

Cong tac dao chiéu

Tay nam ngoai Tay nam ngoai

L6 truc

Bay cong tac dao chiéu ra ngoai va cung Uc xoay tay ndm clia 180 xuéng phia dudi dé
dao chiéu tay nam ctra.

Luu y: Khi dao ngudc chiéu tay ndm ctia tir phia A sang phia B, vui long ddy cong
tac dao chiéu & phia A hudng ra ngoai. Tuong tu dé dao chiéu tay ndm cuia tu phia
B sang phia A, céng tac dao chiéu & phia B phai dudgc ddy huéng ra ngoai; néu
khéng thi khéng thé dao ngugc chiéu tay ndm cua.

17



DL7000/DL7100 DL7000/DL7100

@ Chuén bi 14p dat @ Chuan bi 1ap dat

Hudng dan dao chiéu tay nam trong Hudng dan déi hudng ctia chét clia

h Cong tac dao chiéu
o I

1. Bdy lén
phia trén
Chét clia %

1 { 'S

o
]
I‘i-"lo

| Cong tac dao chidu o3
— Tu dong bat 1én _
&)
[T = 1»
2. Xoay 180° theo bat ky —
) ) - O
Tay nédm trong Tay ndm trong
C
( ) L 117
I
_ (1
\'
® ®

Béy cong tac dao chiéu 1én trén va xoay tay nam ctia 180 hudng lén trén dé dao chiéu
tay nam ctra.
1. Bdy cong tac dao chiéu 1én trén. Sau do, chét sé tu dong bat 1én.
Luu y: Cach dao chiéu tay ndm sang bén trai va phai giéng nhau.
2. Xoay chét theo bét ky hudng nao & goc 180 va &n chét vao lai than khoa.




DL7000/DL7100 DL7000/DL7100

@ Huong dan I4p dat @ Huong dan 14p dat

Hudng dan 1ap dat mat ngoai khoa

Hudng dan 1ap dat than khoa

Cula

Mat ngoai khoa

Cap mat ngoai khoa

Hém Silicon i , ( m:
Cap cua than khoa Tam day // R ‘
Nut chéng cat

Vit c6 dinh than khoa }
Vit M5X45
/ Bulong két ndi
® Cap cua than khoa
Truc xoay 8X8
Than khoa D P
) //,/

Vit M5X45

1.L8p than khoa vao 16 khoan trén clra véi chét clia & phia trén. Rut cap than khoa tu 16

gitia cla mat bén trong cua. 1. Rut cap clia mat ngoai khoa tir 16 phia trén clia mat trong clia. Chén truc xoay 8x8 qua

& cam truc cuia than khoda va mat ngoai khoa.
2.C4 dinh than khoa bang 2 6c vit.
2. C6 dinh mat ngoai khda véi tdm day bén trong clia bang vit M5X45 kém theo.
Luu y: Than khéa phai song song véi 16 trén clia. Than khéa khéng dudc nghiéng

hod&c léch khéi tam ciia sau khi 1ap dat. Luu y: Hay chac chan rang mét ngoai khoda, 8 cdm truc cla than khda va mat trong

khoéa & cung moét tam thédng ding dé dam bao truc xoay dugc hoat déng tron tru.

20 21



DL7000/DL7100

@ Huong dan I4p dat

Hudng dan lap dat mat trong khoa
Vit M4X15 Cap cua than khoa va mat ngoai khoa Cla

Tam che mat trong

Ve

\

Mat ngoai khoa

O(é N 7

Vit M4X15 /
Mat trong /

Lo xo

9

o, DUD?D@

Truc xoay 8x8

/®

Than khoa

1. N&i cap clia mat ngoai khoa va than khoa véi mat trong khoa.

2. Bat 1o xo vao 16 ctia tay nam clta bén trong va dat tay nam cla vao truc xoay. Lap
mat trong voi tdm day bang vit M4x15 kém theo.

3. Lap 4 vién pin AA vao dung cach va van hanh khoa dé kiém tra bang cach khoa
va md khoa. Sau khi ddm bao khoa hoat doéng tron tru. Béng tdm che mat trong 1én
mat trong khoa.

22



HAFELE

Hafele VN LLC.
Phone: (+84)28 39 113 113
Email: iInfo@hafele.com.vn

LN Y HAFELE
CUSTOMER CARE CENTER
kv 1800 1797
b TOLL FREE/ G301 MIEN PH



